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1. State whether each of the following is true or false. To receive full credit, you must prove the statements that are true and
provide a counterexample or explanation for the statements that are false. (Remember that the best counterexamples are
usually very 51mple') (S TIPS, 5 COM)
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Complete the following statements by filling in the blanks with logical answers that relate to what we have learned in the
review unit of this course. (7 KU)
Many students find mathematics difficult because they see it as set of symbols and rules that are applied without

justification and without understanding. To resolve these problems, Mr. Nolfi explained that math is like a dating service
because it’s all about a-{’ i OH S[’l | {7 S U 7 . In addition, the terminology and notation of mathematics
can be seen as an @X-Lﬁﬂ V% " of natural languages whose purpose is to
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Mr. Nolfi also explained that it is a very bad |dea to memorize formulas blindly (i.e. without understandmg) Instead, he

suggested that we remember and understand some basic concepts that will help us to derive relatlonshlps quickly and
easily whenever necessary. For example,

sons of slope =slope. —
for equations of lines, we only need to remember [7 f
for the midpoint of a line segment, we only need to remember /M,,./ +fo 'gi/l &{ ﬁ% q l/(,mf«? d]c fwo nu;-Jgers
and for the length of a line segment, we only need to remember Huz P\ffﬁlaqa vean ‘fhﬂ wvlm .. —
Finally, it is often helpful to understand physical interpretations of mathernatncal concepts. For instance, the concept of
slope is easier to grasp when we remember that it can be interpreted physically as SJreeﬂM% / w /OC{{'V / yak Ffé%mﬁe
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. Fully factor a*(3a—2)~5a(3a—2)+9a—6 (AAPP,Z COM)
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5. Use a graph to explain why the equation sin8 =— must have exactly four solutions if 27 <0<2x. (4 TIPS,2 COM)
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6. Solve 12sin” x—11sinx+2=0 if 0<x <27z . Express your answer(s) in radians. (5 APP,3 COM) tgﬁif; -l--?)
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Using her well honed interpersonal and managerial skills, Christine assembled two groups of MGA4UO volunteer
researchers to obtain an accurate measurement of the height of the CN Tower. The first group, consisting of Bhagat,
Palwinder. Karan, A. J., Amandeep, Sehajpreet, Robbie, Stephanie and Andy, was told to measure the angle of elevation
from the ground to the top of the CN tower. The second group, consisting of Manish, Snehjot, Philip, Gurdeep, Alex,
Tapiwa, Harpreet, Antarpreet and Andrew were told to do the same from a point 500 m more distant from the tower. The‘
results of the measurements are given in the following table.

Group 1: Bhagat, Palwinder, Karan, A. J., Amandeep, | Group 2: Manish, Snehjot, Philip, Gurdeep, Alex, ]

Schajpreet, Robbie, Stephanieand Andy | Tapiwa, Harpreet, Antarpreetand Andrew |
Angle ofelevation:‘}_?.SS" : '

| Angle of elevation: 28.94°

Fearing that Ryan and Sai might behave in an embarrassing manner in public, Christine decided to force them to stay at
school. Once the two groups returned to school, they provided Ryan and Sai with the data that were collected. Using the
given data, Ryan and Sai calculated the height to be 553 m. Show whether Ryan and Sai did their jobs correctly.

(o R0 £OR) Let h re/w%% fle height of e _— k"““w\

Ryan and Sai!!! I can’t

; f
CN Tower in ) Mﬁf’f and (eTL X believe that you would
¢ PyGQ@V\'{’ T’}u_ O{JI.S‘}'QM(,’ e”i%ﬁ _. {1%5;’5 fmba.rrass me in public like )
O‘F B “R'UW‘?W 4 ) PO* *,'f‘, *>/ that. Never, ever hang a .

moon at an old lady ever
ot whith _gma » L adogyred  again!

Hhe ars, le 'd\ag\e@gﬁam

Cl@auLw
L _twwr38” 0 g
b B @

A15D0 ) .
Foain €~['(,m'ét?n @) e haye x= 2;;%7%’57 * gaém‘:fuﬁoj iy @f.«.{aﬁ;ﬁ@

we  olrfain
h= tanP.94° (x+500) = zi,;mo?ﬁ.%‘p(m +500)

o A BB 500 fan HB71°
o “an F1.27° "
() kBRI = 500 tan DT
| tan47.80°
= | — tandB A
tand7.88°

2 h=5%54.9 -
il a0 Ay G B blie, Berer? '
.ngof\ Wil W_@d!//( [ KU | APP | TIPS | COM |

-o]-0]-0]-0




